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ADDITION OR SUBTRACTION

2)  There are 900 apples in a packing box. When Rena opened, she found that 115 

     apples were spoiled. How many apples are fit for sales? Use the place value

     chart to solve or use the arrow way?

1)  478 persons attended to a function. But there are only 350 chairs for them to

     sit. How many more chairs are required for them to sit? Use the arrow way to

     solve?

Number of apples ____.

Number of persons attended to the function ____.

Spoiled ____.

Number of chairs for them to sit ____.

Apples are in good condition for sale ____.

Number of chairs required ____.

Solution:

Solution:

900

478

- 100

- 100

- 10

- 10

- 100

- 10

- 5

- 100 - 10 - 10 - 10

Questions on reasoning and thinking.


